Exploded View Spare Parts

www.nhainsawspares.nnm.au

PGEN92ES-G-01
PGEN92ES-G-02
PGEN92ES-G-03
PGEN92ES-G-04
PGEN92ES-G-05
PGEN92ES-G-06
PGEN92ES-G-07
PGEN92ES-G-08
PGEN92ES-G-09
PGEN92ES-G-10
PGEN92ES-G-11
PGEN92ES-G-12
PGEN92ES-G-13
PGEN92ES-G-14
PGEN92ES-G-15
PGEN92ES-G-16
PGEN92ES-G-17
PGEN92ES-G-18
PGEN92ES-G-19
PGEN92ES-G-20
PGEN92ES-G-21
PGEN92ES-G-22
PGEN92ES-G-23
PGEN92ES-G-24
PGEN92ES-G-25
PGEN92ES-G-26
PGEN92ES-G-27
PGEN92ES-G-28
PGEN92ES-G-29
PGEN92ES-G-30
PGEN92ES-G-31
PGEN92ES-G-32
PGEN92ES-G-33

Handle

SpRing Pin

Circlip

Bolt, M6x14

Wheel Support
Wheel Shaft Assembly
Tire

Washer, $6.5x2x¢25
Washer, ¢6

Fuel Switch

Clamp

Fuel Tank

Fuel Meter

QOily Sense Clip

Bolt, M6x25

Fuel Cap

Engine

Self-tappling Screw, ST4.2x19

Cylinder Head Baffle
Bolt, M6x12
Gasket, Muffler
Nut, M8

Muffler

Bolt, M8x16
Brush

Bolt, M5x18
Bolt, M5x14
End Cover
Nylon Washer
Washer, ¢5
Washer, ¢5
Bolt, M6x200
Rear Bracket

PGEN92ES-G-34
PGEN92ES-G-35
PGEN92ES-G-36
PGEN92ES-G-37
PGEN92ES-G-38
PGEN92ES-G-39
PGEN92ES-G-40
PGEN92ES-G-41
PGEN92ES-G-42
PGEN92ES-G-43
PGEN92ES-G-44
PGEN92ES-G-45
PGEN92ES-G-46
PGEN92ES-G-47
PGEN92ES-G-48
PGEN92ES-G-49
PGEN92ES-G-50
PGEN92ES-G-51
PGEN92ES-G-52
PGEN92ES-G-53
PGEN92ES-G-54
PGEN92ES-G-55
PGEN92ES-G-56
PGEN92ES-G-57
PGEN92ES-G-58
PGEN92ES-G-59
PGEN92ES-G-60
PGEN92ES-G-61
PGEN92ES-G-62
PGEN92ES-G-63
PGEN92ES-G-64
PGEN92ES-G-65
PGEN92ES-G-66

Damping Pad

Nut, M10x1.25
Earth Wire
Reinforcement Support
Nut, M8

Bolt, M10x1.25x270
Washer, 10
Washer, ¢10x4x¢30
Alternator

Bolt, M5x240

Nut, M5

Bolt, M10x1.25x25
Front End Cover
Nut,M8

Frame Assembly
Washer, 96
Washer, ¢6

Nut, M6

Nut, M6

Damping Pad
Bolt, M8x55
Voltage Regulator
Control Panel
Cathode Wire
Anode Wire

Nut, M6

Binder Plate

Bolt

Battery

Support Base
Support Base
Damping Pad
Bush,@8x¢p6x12




@
“’\ ;
A
/
/
s
7
A
Jw
;R
“@ ,
S ———

Exploded View Spare Parts

WWW.I:l'IHiI'ISHWSpHI‘ES.EI]I'ﬂ.HI.I

1:13

PGEN92ES-E-01
PGEN92ES-E-02
PGEN92ES-E-03
PGEN92ES-E-04
PGEN92ES-E-05
PGEN92ES-E-06
PGEN92ES-E-07
PGEN92ES-E-08
PGEN92ES-E-09
PGEN92ES-E-10
PGEN92ES-E-11
PGEN92ES-E-12
PGEN92ES-E-13
PGEN92ES-E-14
PGEN92ES-E-15
PGEN92ES-E-16
PGEN92ES-E-17
PGEN92ES-E-18
PGEN92ES-E-19
PGEN92ES-E-20
PGEN92ES-E-21
PGEN92ES-E-22
PGEN92ES-E-23
PGEN92ES-E-24
PGEN92ES-E-25
PGEN92ES-E-26
PGEN92ES-E-27
PGEN92ES-E-28
PGEN92ES-E-29
PGEN92ES-E-30

Bolt, M6x25

Valve Cover

Oil Plug

Bolt, M6x8

Washer

Gasket, Valve Cover
Bolt, M8x50

Rocker Arm Base
Retaining Ring, 12
Rocker Arm Assembly
Rocker Arm Assembly
Rocker Arm Coreshaft
Valve Locker

Valve Spring Seat
Valve Spring

Intake Valve Seal
Exhaust Valve

Intake Vavie

Shroud

Bolt, M10x95

Stud, M8x32

Cylinder Head

Spark Plug

Stud, M6-8x110
Gasket, Carburetor Insulator
Insulator

Gasket, Carburetor
Carburetor

Gasket, Air Filter
Stepping Motor Base

PGEN92ES-E-31
PGEN92ES-E-32
PGEN92ES-E-33
PGEN92ES-E-34
PGEN92ES-E-35
PGEN92ES-E-36
PGEN92ES-E-37
PGEN92ES-E-38
PGEN92ES-E-39
PGEN92ES-E-40
PGEN92ES-E-41
PGEN92ES-E-42
PGEN92ES-E-43
PGEN92ES-E-44
PGEN92ES-E-45
PGEN92ES-E-46
PGEN92ES-E-47
PGEN92ES-E-48
PGEN92ES-E-49
PGEN92ES-E-50
PGEN92ES-E-51
PGEN92ES-E-52
PGEN92ES-E-53
PGEN92ES-E-54
PGEN92ES-E-55
PGEN92ES-E-56
PGEN92ES-E-57
PGEN92ES-E-58
PGEN92ES-E-59
PGEN92ES-E-60

Stud, M6x84

Air Filter Assembly

Air Filter Base

Air Filter Clip

Gasket, Air Filter

Air Filter Baffle

Air Filter Element

Air Filter Cover

Nut, M6

Clamp

Stepping Motor
Stepping Motor Cover
Screw, M4x8

Clamp

Fuel Hose 96.3x¢12.5x210
Guide Clamp

Spring

Gasket, Cylinder Head
Pin,p13x16x¢10.2
Push Rod

Tappet

Piston Ring Set
Piston

Circlip

Piston Pin

Connecting Rod Assembly
Breather Hose
Crankshatft

Woodruff Key
Camshaft



PGEN92ES-E-61
PGEN92ES-E-62
PGEN92ES-E-63
PGEN92ES-E-64
PGEN92ES-E-65
PGEN92ES-E-66
PGEN92ES-E-67
PGEN92ES-E-68
PGEN92ES-E-69
PGEN92ES-E-70
PGEN92ES-E-71
PGEN92ES-E-72
PGEN92ES-E-73
PGEN92ES-E-74
PGEN92ES-E-75
PGEN92ES-E-76
PGEN92ES-E-77
PGEN92ES-E-78
PGEN92ES-E-79
PGEN92ES-E-80
PGEN92ES-E-81
PGEN92ES-E-82
PGEN92ES-E-83
PGEN92ES-E-84
PGEN92ES-E-85
PGEN92ES-E-86
PGEN92ES-E-87
PGEN92ES-E-88
PGEN92ES-E-89
PGEN92ES-E-90
PGEN92ES-E-91
PGEN92ES-E-92
PGEN92ES-E-93
PGEN92ES-E-94
PGEN92ES-E-95
PGEN92ES-E-96
PGEN92ES-E-97
PGEN92ES-E-98
PGEN92ES-E-99

Washer, 38.3x1x@p54
Oil Seal, p38xp58x8
Gasket, Crankcase
Pin,p9%x12

Bolt, M6x16

Pin,p8x8

Breather Filter Screen
Oil Pump

Gasket, Oil Pump
Spring

Steel Ball, ¢9.5
Dipstick

Bolt, M8x45
Crankcase Cover
Connection Pipe

Qil Filter

Washer, 17.4x1x925.9
Balance Shaft

Electric Starter
Breather Valve
One-way Valve Spring
Gasket, Breather Cover
Breather Cover

Bolt, M6x14
Crankcase

QOil Pressure Sensor
Washer, 10x1.5%x¢p17
Clip

QOil Sensor

Drain Bolt

Washer, ¢14x1.5%922
Bolt, M8x35

Wire Board

Bolt, M6x10

Wire Board

Ignition Module

Bolt, M6x%28

Charging Coil

Bolt, M5x25

PGEN92ES-E-100 Flywheel
PGEN92ES-E-101 Cooling Fan
PGEN92ES-E-102 Starter Cup
PGEN92ES-E-103 Bolt, M6x14
PGEN92ES-E-104 Washer, ©20.5x5xp40
PGEN92ES-E-105 Nut, M20%1.5
PGEN92ES-E-106 Stud, M8x105
PGEN92ES-E-107 Blower Housing
PGEN92ES-E-108 Recoil Starter
PGEN92ES-E-109 Nut, M6

PGENSZES ENGINE CONT'D

Exploded View Spare Parts

www.chainsawspares.com.au



